$10,000 or 5% of lowest cost proposal, THEN cost/benefit analysis is required

Cost-Benefit Analysis

IF difference between cost of highest scored proposal and lowest cost proposal Exceeds the Greater of

Exceeds the Greater of $10,000 or 5% =

Difference Must Exceed Both $10,000 and 5%

Exceeds
Both Cost-Benefit
Highest Lowest % $10K and 5% Analysis
Score Cost Difference Difference Yes/No Required
1,600,000 1,500,000 100,000 7% Yes Yes
45,000 43,000 2,000 5% No
1,500,000 1,300,000 200,000 15% Yes Yes
70,000 64,000 6,000 9% No
9,400,000 8,900,000 500,000 6% Yes Yes
370,000 357,000 13,000 4% No
42,000 30,000 12,000 40% yes Yes
100,000 90,000 10,000 11% No
60,000 49,000 11,000 22% Yes Yes
596,000 589,000 7,000 1% No
295,000 276,000 19,000 7% Yes Yes
4,000,000 3,800,000 200,000 5% No
195,000 180,000 15,000 8% Yes Yes
50,900,000 50,000,000 900,000 2% No
820,000 775,000 45,000 6% Yes Yes




